H & 0l & AHS B Ml A

SN HEDED
M ANYESY WS0HA X9
ol 280 HsusS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Hsnss 28,283,342 46,461,044 A18,177,702
= 1,278,000
Jl 842,000
= 626,749
Al 25,536,593
AR NSHA &4 24,304,323 40,827,913 16,523,590
= 651,000
S 626,749
Al 23,026,574
S8 HsusS 24,304,323 40,827,913 /16,523,590
= 651,000
= 626,749
Al 23,026,574
OISkt =4 UEusS US| A 98,500 100,000 21,500
201 er2 3| 13,500 100,000 86,500
01 AtR2te|HI 13,500 100,000 86,500
oolElt 4 tsus 2H=J1 A 13,500
308 AFAIEHMSOIE 85,000 0 85,000
13 SI[2SOHE & EAS A 85,000 0 85,000
O0IZi =4 Hsns 2SIl A 85,000
SEXE RA2e 2,800 2,800 0
201 er23| 2,800 2,800
2 s5=4g4l 2,800 2,800
O=EXEY FAl2c 2,800
SAG2e/AAE F A2 40,743 40,743
201 er23y| 40,743 40,743
02 S3=gHl 40,743 40,743
O2=AtHZCIAIAE X2t 40,743
HASUAAXCIAIAE SHOIX KX2e] 21,772 21,772
201 =3 271,772 21,772
2 S22l 271,772 21,772
OZASUIAXCIAALE SEHIOIX FXl2c 21,772
SgussH TUEX 250,000 104,000 146,000
= 115,000
== 57,500
Al 77,500
405 KHaHE SH 250,000 104,000 146,000
= 115,000
= 57,500
Al 77,500
01 ML ESFISHI 250,000 104,000 146,000
OE2usSs+H TYEX 250,000




2A: HsnsSh
M AlDIEY D0 X4
ol 280 HsusS EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 115,000
T 57,500
Al 77,500
S8usSsH O - HXE XA 200,000 260,000 260,000
= 92,000
T 46,000
Al 62,000
405 KHHE S| 200,000 260,000 260,000
= 92,000
& 46,000
Al 62,000
01 AL =ZFSHI 200,000 260,000 260,000
OSgus==t U - HIXtE 200,000
= 92,000
& 46,000
Al 62,000
WS =AHAHA &g 210,000 0 210,000
= 210,000
405 KHHESH| 210,000 0 210,000
= 210,000
01 XML =EF S| 210,000 0 210,000
OuUSAL =AM AHA & 210,000
= 210,000
=uws 4dst = 18,000 18,000 0
203 AR F&lY| 18,000 18,000
03 A FAIH R FAIH| 18,000 18,000
OH=uUsS 435 18,000
OIS XEDIE SHIAIS 192,117 139,042 53,075
= 57,635
Al 134,482
402 QI2E X201 ™ 192,117 139,042 53,075
& 57,635
Al 134,482
02 QIZEXHEAIZ 2 X (01 TH ) 192,117 139,042 53,075
OAIIHAHOIE 124,300
& 37,290
Al 87,010
OLNEHAHOIE 67,817
= 20,345
Al 47,472
HF=AAL HEAE =& 733,000 2,094,000 21,361,000
308 AXISHMSOIN 733,000 2,094,000 21,361,000
13 BI |2 SUICHEHE A XL EF ALY 733,000 2,094,000 21,361,000




2H: HESDED
M ANYESY WS0HA X9
ol 280 HsusS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| oFFoAM A F7 733,000
sSHE WE & 2e 60,600 58,000 2,600
201 Zet=E] 2,600 0 2,600
01 Al2teldl 2,600 0 2,600
OLES AeHA A0IFFL SEA L
= 2,600
401 AIEHIX 20 58,000 58,000
01 A28l 58,000 58,000
0sLF Mg ¥ B2 53,000
BAN23 Hex=3 KA 1,623,881 1,504,008 119,873
[ 391,661
Al 1,232,220
307 glztol & 1,623,881 1,504,008 119,873
= 391,661
Al 1,232,220
09 2+ AHAELS 1,623,881 1,504,008 119,873
OHARS Herg KA 1,623,881
LS 391,661
Al 1,232,220
BARs JtESHE KEAY 246,510 250,668 N4,158
& 73,953
Al 172,857
307 lztol & 246,510 250,668 A4,158
& 73,953
Al 172,857
09 2+AE2LS 246,510 250,668 AN4,158
OHAIRS HESHE KA 246,510
T 73,953
Al 172,557
BAI2Y FE2C/AAE |X2e 41,000 51,000 10,000
308 AHAIEHMSOIE 41,000 51,000 10,000
183 S| 2SO U B XA AIE 41,000 51,000 10,000
OHAI2Y HE2CIAAE S22l 41,000
SAIZ R XA 1,320,000 1,320,000 0
= 234,000
Al 1,086,000
307 glztol & 1,320,000 1,320,000 0
= 234,000
Al 1,086,000
09 2+ AHAELS 1,320,000 1,320,000 0
O=AIZA NI AL 1,320,000
= 234,000
Al 1,086,000




A HSuUSH
M AlDIEY D0 X4
ol 280 HsusS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wSoHN HH 29 10,800 0 10,800
201 er23 | 10,800 0 10,800
01 At2teltl 6,000 0 6,000
(OFsEN=2=:1] 4,080
ORoIZH 89 S 1,920
02 S3=gHl 4,800 0 4,800
osE2= & HA 4,800
BASEAAY 2 X 430,000 0 430,000
307 lztol & 430,000 0 430,000
09 2+A2LS 430,000 0 430,000
OHAISEAIAHE 2 K& 430,000
Al 22 AME B2 60,000 0 60,000
308 AHXIEMSOIE 60,000 0 60,000
18 SIS0t HAS A 60,000 0 60,000
OHAl 28 AME 8% 60,000
Al SN HREH 50,000 0 50,000
207 ARl 50,000 0 50,000
01 A S| 50,000 0 50,000
OHAl SEM 7224 50,000
SANS2E 20 24 X 3,500 7,000 3,500
307 glztol & 3,500 7,000 23,500
02 LB HAHE L 3,500 7,000 /3,500
OUSAD HFBHAOt2+LSSAHH) 1,750
OSHLQ ALETX L FHS SUSO0I(8
22 I A WS M= AIXIE]) 1,750
2 RMEEZ XA (HA SALSE) 17,000,000 28,613,000 A11,613,000
307 @12t01 & 17,000,000 28,613,000 A11,613,000
09 2FSHEXS 17,000,000 28,613,000 211,613,000
O2+gH FIEEXS K (HA AL ES) 17,000,000
SISASA SEXUDX AL (HEAY) 600,000 1,000,000 A400,000
401 Al HIZL 201 600,000 1,000,000 A400,000
01 Al&H| 539,000 996,000 /397,000
O3NS SEXIX ALK 599,000
03 A2 2 0HYI 1,000 4,000 A3,000
O3NS SEXIA AL XH 1,000
A= NSA S LK 23 50,000 0 50,000
405 AtatsE = 50,000 0 50,000
01 MM ESFH S| 50,000 0 50,000
Ost=ksit S 24 50,000
A 2SS NHEH WA 2 2,100 2,100
307 lztol & 2,100 2,100
02 IHB A HE L 2,100 2,100




SH: HEDSY
ME: AlRlBel DS T4
ol 280 HsusS EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| oAl 2EXE) na 2 2,100
ANEH OIEAIE FHI 1,003,000 1,203,000 200,000
401 Al HIX S0 1,003,000 1,203,000 200,000
01 Al&H| 1,000,000 1,200,000 A200,000
ORI 01ZAIE Fb 1,000,000
03 AlESTHYI 3,000 3,000 0
OX&EH OlESAIE U 3,000
ZOIEH L X2 30,000 0 30,000
402 212+ XH=01 A 30,000 30,000
01 SN BE (R ) 30,000 30,000
OFIINEH 7 e 30,000
WL SEuSH 24 1,997,900 1,885,097 112,803
= 627,000
Jl 842,000
Al 528,900
a8t HES 1,997,900 1,885,097 112,803
= 627,000
Jl 842,000
Al 528,900
WS SEuSH 24 1,370,900 1,885,097 A514,197
Jl 842,000
Al 528,900
38 HES 1,360,900 1,875,097 Ab14,197
) 832,000
Al 528,900
01 SAL- SHBYHES 1,360,900 1,875,097 A514,197
ODSAT SEDE4E 2Y 352,000
Il 362,000
ODEUX SEDSHE 2 2 1,008,900
Jl 480,000
Al 528,900
404 SAHSHIAZ2EES 10,000 10,000 0
7l 10,000
01 SAt- SHA2MES 10,000 10,000 0
ODEAT SEDE4E 2Y 10,000
Il 10,000
WSAI SEWSHE 2H (=) 627,000 0 627,000
= 627,000
309 MES 627,000 0 627,000
= 627,000
01 SAL- SHIHYHES 627,000 0 627,000
ODEAX SPDSHE 2(=H)) 627,000
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